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g2 dd 2913x4236 =548 K

x=291.3 x42.36 S
log x = log (291.3 x 42.36) = A0S o
=log 291.3 +log 42.36, (log,mn =log,m + logn)
= 2.4643 + 1.6269 = 4.0912 |
x = antilog 4.0912 = 12340 £\
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2 Je
/=28 0.2913 % 0.004236 <54 S 6 Y
y=0.2913 x 0.004236 Ny J
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(iii) log, (%) =log,1 —logn =—logn,...... (. log,1 =0)
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291.3 . ? (291 3)
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=T ~0.1600h= 1 — 2. (/3P 1)

= 2.8374 [ 3-1=2=-3-1-(2)=-2= 7]
> y=antilog 2.8374 = 0.06877
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= 0.04562
(iv)ye
(U 468 2 SUL)
1 1 log, n
og, n=log, nxlog, b | log, @

81



logyn=x = n=b"

A %
log,n=log b =xlog, b
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1
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log 3 x log 8 = log 2
_log %
“log2
3log2
log 2
<y
e b B I (form) Forp Sludi¥d 2 St G)
4. LL/J’f;«bl/g,dllﬂ/_bla‘?f(;;b’)’/,dlrl:é&d’%lké 108 e 1 (i)
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330
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: ] @2 . 25 x 47
(iv) log 15 (v) log 53 (vi) log 29
-é/;u; utd" JZB’)’»I; 2
logx—2logx+3log (x+1)—log * - 1)
-u..’i utf J ,‘;;()'»!”( Jj.?u.‘/ 3
(1) log 21 +log 5 (i) log25-2log3
(iii)) 2logx-3logy (iv) log5+log6-log2
-éf"’/dvrut'z-?lﬂ 4
(i) log;2 x log,81 (i)  logs3 x log,25
log 2=0.3010,log 3=0.4771,log 5 = 0.6990/'.4)}#;2&)_54/# 5
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7logi—g"+5 log%i'+3 logg—(l)'=log2

J

AT 16 2 '
.J}U:t =7logE+5 log2—i+ 3 1og'g—(1)
= 7[log 16 — log 15] + 5[log 25 — log 24] + 3[log 81 — log 80]

= 7[log 2* - log (3 x 5)] + 5[log 5 — log (2* X 3)]
+3[log 3* —log (2* x 5)]

=7[41log 2 —log 3 —log 5] + 5[2log 5 — 3 log 2 — log 3]
+3[41log 3 —41log2—log 3]

=(28-15-12)log 2+ (<7 =5 +12) log 3 + (-7 + 10~ 3log 5
=log2+0+0=log2= SHS
2 J&

3 0.07921 x (18.99) : o
\f(S.79)4><0.9474  pedendl
Sy J

: {F07921 x (18.99) (o 07921 x (18. 93)"3

(5.79)* x 0.9474 (5.79)* x 0.9474

P (0.07921 X (18.99LJ
%% (5.79)* x 0.9474

log y %
% [log {0.07921 x (18. 99)°} —log {(5. 79)* x 0.9474}]
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logy = - [10g007921 +2log 18.99 — 4 log 5.79 — log 0.9474]

Iwh—t W= W= W=

[2.8988 + 2(1.2786) — 4(0.7627) — 1.9765]

[ 2.8988 +2.5572 — 3.0508 — 1.9765]

[1.4560 — 3.0273] = % ( 2.4287)

( 3+1.4287)

= 1+04762 = 1.4762
= y =antilog 1.4762 = 0.2993

£n A——°L£-«’er/d;n k=2 /it A=A KL,
SV
A=Aoe—kd‘:> :=e""d
=2 7l A=%,:>%=e—2d
"—4(%3'(%@}

logy 1 —1log,, 2 =-2dlog,, e (e =2.718)
0-0.3010 =-2d (0.4343)

0.3010

) g m = 0.3465

34
-u:/r)"‘u,:‘: JJ..S.?J#’L)A JJ}@(EJ’()’

3 J&

‘ = 18 ... 0.678%9.01
() 08176x13.64 (i) (789.5) (i) =051
i 9 7 (1.23) (0.6975) 07214x20 37
(iv) ¥2.709 x/1.239 (v) (0.0075) (1278) VD \/
3 3
i) 83X35[92 (viii) 438388(1.056
127 x 3246 358)
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e bl L 5oL L

By =0
- n=% Hv=31cp= so.é-gfrk’.:,é&c
-‘LJ‘ 3ty 6K J J (product) .‘J/b/,u/

n= 90 (5)'<l/10
‘j{ru 18.00[{@-%&2&&{4p/3’)’ﬂ({d?{' (ZCLB:) s q LS
oL L Sy E
1t=27—2 29 r=13 .?-q_'/(:"’:u’:d/A I A=m;)7
h=42 u n=% < T=25.8 -u::(.“»"“:—fo( V in V =%nr2h/ﬁ
30 0kl
LE W ene SR ne s
................ Pian/t 6
(@ a=logn (b) x=loga () x=logn (@ a =log,x
................ I V= logzx/(l (ii)
@ FE2 L )P =x © =y @ Y=x
_‘Lt'n/,lj,i ................ (’3(} ¥1 /...JV’U/ (iii)
@ 1 (b) 10 (Cy % - @d o
Sl ...«L?.;ﬂ)ﬁ'duu V’th/(}jé)ﬁu(( ]l @iv)
(@ 1 b) 0 ey -1 @ 10
(c 220BE - = log e )
(a) 0 (b) 0.4343 (c) - oo @ 1
RATE .
R SRR :_-;{V‘]Qg.\;) (vi)
‘ 1 logp
(@) log P log ¢ (h) log ¢
(c) logp+logg (d logg-logp

(a)

oe(7)

................ = log p= log q (vii)

log P
®) logp-0) © forq @ log(qf)
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e Ol ..o Slogm”  (viii)
(@ (log m)" (b) mlogn () nlogm (d) log(mn)

sa(Pudfsn. Ly Slog,axlog b  (ix)

(@ log,c (b) log.a (c) log,b (@) log,c
‘ g e Enszlogx  (x)
(a) ;%g—x (b) :zi—ﬁ © :zg—x (@ K,’:—y
: -u/f!atwwwé/’/ e 2
B3 et ISR G
W i f,.odw{, Q/K,Jruﬁo,q{( (ii)
_bg‘.i ................ f,od/ﬁ(’i(;’rlpﬁ;xu’( (iii)
¥ §xdydn x=logy]l (iv)
................ ATGUs AL SRR A LGt T ok B LSS ()
e
-Jyz ---------------- :I,«""Ju;’»‘/zuféd:xgéu’!?n ‘I’JGK(B;(}’L ;Mj(/fl (vi)
S d S tSsoiee 3
() logx=5 (i) log,256 = x
(iii) log6255=%x (iv) log64)c=—?2
Sl ix Ldirie 4
(i)  logx=2.4543 (i) logx=0.1821
(i) logx = 0.0044 (iv) logx= 1.6238
# log 5 = 0.6990 4+f log 3 = 04771, log 2= 03010/ - /P 52 ( fsosir 5
(i) log4s (i) log % (iii) log 0.048
_q/ /’”" ' J j.y,cfcuu( J’Jf(z;@ -6
i) 2547 (i) 33422 P el
1537
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FBEy'a U x Inazl,a>0,y>0 s axyeR £ a=y/]
e x=log,y elntZ

x=1log,y Ind =y

e (= 2718)U U -t &L FK Y Briggs) Trirbeti e 100018 P
2L P (Naperian) of 4005 S FRY £

28 (characteristic) <6 § P9 S > $1i6 & L PRI Lsws”

; 7 -u!qf (mantlssa) L2 '
{1 c;lﬂd/uruﬁyd;ﬁié;x.f/lp (/()LJ%L/L I
-l

e Tz}ﬁylﬁﬂﬁé:)xul‘ab'nf}:‘l ~b K(%f;’é:)ﬁi.){c_‘l’ (ii)
‘ 1 ;—,;w?d/ Us p2r8s

F AL bl 3,2, To el 321 bintde Toulfa

(ebnad 2% e )2 bV A

—e b (ULE) Gfile KZ?)L;w:J”ZurmﬂLu,ﬁ Sk

bl P wonp b E S PRI L sons

log, ¢ = 0.4343.s! log, 10 = 2.3026

L9 L/ ¢y

log, (mn) =log,m+1log,n (i)

log, (;): log, m—1log,n  (ii)

log, (M"Y =nlog,m (i)
log,n=log,nxlog,b (iv)
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